19.

22,

23.

24.

(a) What do you mean by optimum utiliz

. ation of
resources? Explain. of

Or

(b) Define scalar chain as principle of

management.

(a) Discuss the challenges and opportunities of
the present managers.

Or
(b) Explain about the various types of
Departmentation.

PART C — (3 x 10 = 30)
Answer any THREE questions.
Compare Management and Administration.

What do you understand by decision making
process? Explain.

Describe in detail about performance appraisal.

Enumerate the various Eyes of leadership with
examples.

Impact of Information technology in management.
Discuss. :

4 S.No. 5281
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Time : Three hours

‘i‘;

(For candidates admitted from

Business Administration — Non

P 22 MBANME

20222024 Onwargs)
P.Gc. DEGREE EXAMINATION. APRIL 2024

Major Elective
PRINCIPLES OF MANAGEMENT

Maximum : 75 marks
PART A — (20 marks)
Answer ALL questions.

(A) Multiple choice questions: (5x1=5)

Management deals with

(a) Internal environment

(b) External environment

(c) Political and legal environment
(d) Both (a) and (b)

Strategic planning as a broad concept consists c-
(a) External analysis :
(b) Corporate strategy

(¢) Developing premises

(d) Strategy formulation and implementation




10.

Sources of conflict

(a) Lack of communication
(b) Complexity of structure
(c) Lack of resources

(d) All of the above

Who has propounded ERG theory of motivation?
(a) Abraham Maslow (b) Alderfer
(¢) Victor Vroom (d) Douglas McGregor

Which of the following is capable of doing
maximum good to society?

(a) Business success

(b) Laws and regulation

(c) Ethics

(d) Professional management

(B) Fill in the blanks: (5.x1=3)

Systematic  evaluation of  individual is

18 about deciding in advance what
should be done.

Choosing the “right person for the job is
In ‘carrot and stick policy’ stick denotes

A self-regulating business model commits
accountability.

2 S.No. 5281

IL.

11.
12,
13,
14.

Descriptive questions: (5 x2=10)
Define managerial communication.

What are the characteristic of leadership?

Brief about Matrix structure.

Outline the term “Brainstorming’.

What is corporate social responsibility?

PART B — (5 x 5 = 25)

Answer ALL the questions, choosing either (a) or (b).

16,

18.

(a) Elaborate the significance of ethics in
management. N

Or
(b) Outline the process of MBO.
(a) Elucidate the types and stages of planning.

Or

(b) Explain the factors
organization change.

influencing  th:

(a) Differentiate between formal and inform-.l

organization.
Or
(b) State the advantages of formal organization.
3 S.No. 52{1



19.

20.

24.

| ]
[

Assignment
note On ‘
a short

(a) Write
Statements.
‘ Or |
(b) Write short notes on three address code with
examples.
(a) Compare machine depindent and
independent code optimization:
' Or
(b) What are the 1ssues in the design of a code
generation‘?

PART C — (3 x 10=30)

Answer any THREE questions.

Explain in detail about Complier construction

tools.

Discuss in detail about the role of Lexical
analyzer.

Explain in detail about top down parsing with
suitable parse tree example.

Write the procedure to represent three address
statements.

Explain in detail about the optimization of
building blocks with suitable examples.

4 S.No. 3222

g.No. 3222

Time : Three hours

—-v .

P 22 CSCC 22

or candidates admitted from 2022—-2023 onwards)
M.Sc. DEGREE EXAMINATION, APRIL 2024.
Computer Science
COMPILER DESIGN

Maximum : 75 marks

PART A — (20 marks)
Answer ALL questions.

(A) Multiple choice questions. (5x1=5)

Compiler should report the presence of
in the source program during translation process.

(a) Classes (b) Objects
(d) Text

(¢) Errors

is the output of lexical analyzer?
(a) A parse tree (b) A list of tokens
(¢) Intermediate code (d) None

How many types of parsers used for grammars?”
(a) 3 (b) 5
() 4 . (d) 6




10.

e
In three-address code, how many operator 01 th
right side of an instruction?

(a) most one (b) most three

(¢) most four (d) most two

for basic blocks containing geveral
statements can be constructed by composing the
functions corresponding to individual statements.

(a) data-flow values (b) Monotonicity

() Nondistributivity (d) Transfer functions

(B) Fill in blanks : (5% 1=5)

represents the transition between

image function's continuous values and its digital
equivalent.

In Compiler, lexical analyzer is used for

grammar gives multiple parse trees for
the same string,

compiler runs on one machine and
generates code for multiple machines.
DAG is a abbreviation of

2 S.No. 3222

11,
11.
12,

13,

14.

16.

18.

Answer the following : (5% 2=10)
Differentiate compiler and interpreter.

What is Token?

What are the problems associated with Top Down
Parsing?

What is control and data flow analysis?
Define Optimization.

PART B — (5 x 5 =25)

Answer ALL questions, choosing either (a) or (b).

(a) Explain the phases of compiler.

Or

(b)  Write a short note on error handling.

(a) Explain regular expression with an example.

Or
(h) Differentiate NFA and DFA.
(a) What is parsing? Write the types of parsing.

Or
(b) Differentiate LR and SLR Parsing.

3 S.No. 3222



19.

20.

21,

22,

23,

24,

5.

(a) What nare the properties available |y
transaction? Explmin.

Or

(b) Discuss about classification of failure ip
recovery system.

(1) How to access document based NoSQl,
system? Explain.

Or
(b) Write short notes on Neod).
PART C — (3 % 10=30)
Answer any THREE questions.

Ilustrate the architecture of database system
with neat shketch.

What are the operations available the relational
model? Explain in detail.

Illustrate basic structure of SQL queries with
suitable example.

Describe the structure of storage recovery system
in detail.

How ta store the key values in NoSQL? Explain
with example.

q S.No. 3221

S.No, 3221

Time : Three hours

P22 CSCC 21

(For candidates admitted from 2022-2023 anwarids)

M.Sc. DEGREE EXAMINATION, APRIL 2024

Computer Science

ADVANCED DATABASE MANAGEMENT SYSTEM

Maximum : 70 marks

PART A — (20 marks)
Answer ALL questions

(A) Multiple choice questions: (hx1=5)

Databose languages can be used to
the data in the database.

{n) Read fh) Store

{c) Update (d) Al of the above
Relational algebra 18 a4 ———  guery
language that takes two relations as mput and
produces another relation as on output of the
query.

{n) Relntional {hy  Structural

¢ Procedural {d) Fundamental



[11,

Aggregate functions are functions that take &
as input and return # Emgle alue,

(a) Collection of values

(b) Single value

e} Aggregate value

{d) Both collection of values and single valug

allows only committed data to be
read, but does not require repeatable reads
fa} Read uncommitted (b) Senalizable
c} Repeatableread  (d) Read committed

Which of the following 1s a NoSQL Database
Type?

(a} SQL
ib}  Document databazes
(e} JBON

{d) All of the mentioned
iB) Fill in the blanks: {6=1=4a}

A database 8 —— with Data
Manipulation Langunge,

———— 1= a set of one or more atlributes
taken collectively to uniquely identify a record,

All agpregate functions except — —— 1gnore
null values i their input eollection

[ — isalatin, each tronsaction 18 grven
it= o versmn of Lhe datihnse

NeSQL datsbuses s used manly for handling
large voluines of —  —— data.

b=

S.No. 3221

12
13
14

16

18.

Answor the following: b=2=10)

What are the npplications available in datnbase
sy&tem?

[llustrate schemn diagrams
Write note on Views
Compare atomicity and durability in transaction.
How to store the key values in NeSQL?
PART D — (5 « b =125)

Answer ALL questions, choosing either (a) or (b}

(8) How Lo design a databasge? Explain,
Or

{b) Write shorl notes en database users and
administrators

{a) Tlustrate basie atructure of relational model
in detail.

Cr
(b}  Write short notes on 3INF,

{a} What are the set operations avatlable in
SGL? Explam with example.

Or

(by Write short noles on integrily conatraints

3 S.No. 3221



19.

(a) Discuss nbout Activity gtack using on

example.
Or
(b) Discuss the Intent filtor using o suitable
illustration.
(a) Describe the various layout styles.
Or

(b) Describe the various sorts of Android menus.

{i] sxnlain how do you develop and publish o
mnlpphuﬂnn with example. -

Qr
() Describe the process of reading data from a
" database.
SECTION C —(3 % 10=30)
Answer any THREE questions.

Describe 108 devices in detal, using an exnmple
ta highlight its features.

Describe Android architecture n detail
Demonstrate Androwd services witl example

Explam i detal about the idea of inpul contrel
using an appropriate example.

Explain how to create and ndd data 1o u S
dntabase in Android in detail

q S Mo, 322

S . No. 3224 P22C8C0C2R

iFor candidates admitted fmm 2022-2020 anwards)
M. Se DEGREE EXAMINATION, APRIL 2024
Computer Soienee — Care Choiee Couree
MOBILE APPFLICATION DEVELOPMENT

Time - Three houwrs Moxumum - 76 marks
SECTION A — (20 nisirks)

Answer ALL questions
1 (A} Multiple chooe guestions:
1. Which framework 12 not used in 10357
(ny Foundation framework
by TTK it fromework
e)  App lat Fromework
(d)  Core Motion framewark

2 What ie the life evels of broadeast recesvers in
anclrond?

(a) Send Intentd )

thi O Reveived )

ic)  Tmplieit Broadeast{ )
(dy Sent Broadeasi )



3. Status duta receipt of the android systom Via 0
(@) Intents

Ureating a, Ul androad requires coreflul use of

10. If you want to share the datn across the all
applications should go for

Il Answer the following : (G=2=10

11 Define web applicntion

12, What are the advantages of [0S7

13, Define Dalvik VM.

14, What is meant by Android stack”

15, How do use phone book in Androd application?

SECTION B — (5 x 5 = 25)
Answer ALL questions, choosing sither (a) or (b)

16. (a) Examine open source software (053) using a

case study.
: Or
(b)  Clarify the various types of Android devices

R S bt e ; ; ; 17. B deseri 1
7. The screen orientation is an attitude of () Briefly describe the Linux kernel,

S ineut Or
8. 18 the recommended way for sharing (b)  Describe the activity life cvele using a clear

~data across packages. diagram.
2 S.No. 3224
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19.

20.

24.

| ]
[

Assignment
note On ‘
a short

(a) Write
Statements.
‘ Or |
(b) Write short notes on three address code with
examples.
(a) Compare machine depindent and
independent code optimization:
' Or
(b) What are the 1ssues in the design of a code
generation‘?

PART C — (3 x 10=30)

Answer any THREE questions.

Explain in detail about Complier construction

tools.

Discuss in detail about the role of Lexical
analyzer.

Explain in detail about top down parsing with
suitable parse tree example.

Write the procedure to represent three address
statements.

Explain in detail about the optimization of
building blocks with suitable examples.

4 S.No. 3222

g.No. 3222

Time : Three hours

—-v .

P 22 CSCC 22

or candidates admitted from 2022—-2023 onwards)
M.Sc. DEGREE EXAMINATION, APRIL 2024.
Computer Science
COMPILER DESIGN

Maximum : 75 marks

PART A — (20 marks)
Answer ALL questions.

(A) Multiple choice questions. (5x1=5)

Compiler should report the presence of
in the source program during translation process.

(a) Classes (b) Objects
(d) Text

(¢) Errors

is the output of lexical analyzer?
(a) A parse tree (b) A list of tokens
(¢) Intermediate code (d) None

How many types of parsers used for grammars?”
(a) 3 (b) 5
() 4 . (d) 6




10.

e
In three-address code, how many operator o0 th
right side of an instruction?

(a) most one (b) most three

(¢) most four (d) most two

for basic blocks containing several
statements can be constructed by composing the
functions corresponding to individual statements.

(a) data-flow values  (b) Monotonicity

() Non distributivity (d) Transfer functions

(B) Fill in blanks : (5x1=5)

represents the transition between
image function's continuous values and its digital
equivalent,

In Compiler, lexical analyzer is used for

grammar gives multiple parse trees for
the same string,

compiler runs on one machine and
generates code for multiple machines.

DAG is a abbreviation of

2

S.Ne. 3222

18.

Answer the following : (5% 2=10)
Differentiate compiler and interpreter.
What is Token?

What are the problems associated with Top Down
Parsing?

What is control and data flow analysis?
Define Optimization.

PART B — (5 x 5=25)

Answer ALL questions, choosing either (a) or (b).

(a) Explain the phases of compiler.
Or

(h) Write a short note on error handling.

(a) Explain regular expression with an example.
Or

(b) Differentiate NFA and DFA.

(a) What is parsing? Write the types of parsing.

Or
(b) Differentiate LR and SLR Parsing.

3 S.No. 3222




(6 pages)
S.No. 3227 P22CSE2C 2.

is a philosophy of managing interaction
of company with its current and potential future

customers.

(For candidates admitted from 2022-2023 onwards) i Rulational Marketing

M.Sc. DEGREE EXAMINATION, APRIL 2024. () Customer Relationship Management
Computer Science — Elective (¢) Customer care
Supply Chain Managem
GREEN COMPUTING @ gement
AT stands fi
Time : Three hours Maximum : 75 marks 3. EPEATst oF
(a) Electronic Product Environmental
PART A — (20 Marks) Assessment Tool
Electric Product Environm . ;
Answer ALL questions. (b) ental Assessment
Tool
k. @ Multplehaicrqrestionss (6 x 1=5) (¢) Electronic Purchase Environmental

Assessment Tool
1.  Which of the following factors does not contribute

_ : i d) E-commerce Product Assess .
to Business to Environmental Intelligence Impact @ ment Tool

- . | |
SRS Lo 4. The ————— is a non-profit consortium whose

(a) Technical Process mission is to become the global authority on
: : _ resource efficiency in information technology and

(b) Social Dimensions data centres.

(¢) Economic Dimensions (a) National grid (b) FElectric grid

(d) Financial Process (¢) Green grid (d) Regional grid

2 S.No. 3227



10.

II.

11.

are ways to conduet Green IT Audits.

(a) Walkthrough (b) Interviews
(c): Audits (d) All of these
(B) Fill in the blanks: (5x1=05)

s the development of a suitable global

strategic vision for an enterprise,

GIS stands for

Creating more logical IT resources, within one
physical system is called

can be social groups that transcend the

organizational boundaries to discuss and form.

opinions on green issues.

deals with computing at a microscopic
level.

Answer the following: (5x2=10)
Define green grid.

What is the purpose of the Green reengineering?

3 S.No. 3227

13.  What is Green data centre?

14, List the various Green metrics.

15.  What are green IT strategies?

PART B — (5 x 5 = 25)°

Answer ALL questions, choosing either (a) or (b).

16. (a) Describe the four encompassing layers of a

comprehensive green IT vision for an

enterprise.
Or
(b) TIllustrate the range of impacts of green IT
strategies.
17. (a). Explain the core concept of Green process
reengineering.
Or
(b) Discuss the various aspects of green solutions
architecture.
18. (a) What are the factors that influence green
data centre? Explain.
Or
N
(b) Explain the deliverables of Green grid in
detail.
b

A o ar S




A8.

20.

21

22.

23.

(a) Describe the role-based view of Green IT in

detail.
Or

(b) Discuss green IT audit and its types.

(a) Describe the primary Green IT drivers for
Good Mead Hospital.

Or

(b) Explain briefly environmentally responsible

business strategies.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Explain the application in environmental domain

in detail.

Describe the individual, - organizational, and
collaborative  green  processes and  their

reengineering.

Illustrate the virtualization architecture in detail.

A S.No. 3227

24.

25.

Explain the roles and skill sets of Green-Collar

workers in detail,

Discuss the social and technical dimensions of

AuPack.

S.No. 32



:;:i]pizg‘;le method is based on Lean Production
SCRUM

Feature Driven Development

Crystal

Extreme Programming

rdmg‘ to Earl's Schools of KM, what is the
rledge Evolution Cycle? W

) Development, Distribution,

_ Deployment,
.~ Leveraging b

Acquisition, Refinement, Distribution,
eployment

Development,  Acquisition, Refinement,
Distribution

l‘everaging’ Deploy me Ilt, RC‘.'E[I'LE ment,
cquisition

rm “Agile Metrics” in this unit refers to:
Measurements of project success
* Metrics for traditional project management

Statistical analysis of customer feedback

Performance indicators in Agile development
| S.No. 3237




- Agile Metricg provide valuable insights into the
and progress of a software project.

Answer the following: (5 x2=10)

state the significance of Agile Team Interactions
in project development.

Compare the Lifecycle of Agile development with
traditional software development.

Define Agile Information Systems and their role in
development.

Why is Managing Unstable Requirements crucial
in Agile development?

What is the Agile Approach to Quality Assurance?

PARTB — (5 x 5= 25)

sing efithﬁl': (g)l-.o-_r--(b)-

nentations




PART C — (3 x 10 = 30)

~ Answer any THREE questions.

the key characteristics of Agile Software
opment and its advantages over traditional

be the Adaptive Software Development
emphasizing its lifecycle, work

, and practices.

ntiate the challenges associated with
to Agile methodologies in knowledge

on the complexities and advantages of
uirements Prioritization methodologies.

financial and production metrics
ature Driven Development (FDD).




he following is a type of data disaster?
ufficient Resource
sted tools

ibase corruption

rational Efficiency

‘fundamental component for resource

ation Service

irce Provisioning Service.

. as a Service (SaaS)

Service (PaaS)




| 14.  Write the common configuration of storage node.
> , . 15.  Define CRM. |

| SECTION B — (5 x 5 = 25)

Answer ALL questions, choosing either (a) or (b).

(a) Compare service-oriented and utility oriented
computing in historical developments.

Or

[Mlustrate architecture of Microsoft hyper-v in
technology.

Provide some examples of  SaaS
implementation.

Or

Discuss about open challenges of cloud in
detail.

Write short notes on Storage as a Service.

Or

Discuss about role of disasters in cloud with

example.




two Business and customer
ons in cloud computing.




S.No
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P 22 MCAISE

(For candidates admitted from 2022-2023 onwards)
M.C.A./M.Sc. DEGREE EXAMINATION, APRIL 2024

Information Technology/ Computer Science/
Computer Application

TECHNOLOGY INNOVATION AND SUSTAINABLE
ENTERPRISE

Time : Three hours Maximum : 75 marks

SECTION A — (20 marks)
Answer ALL questions

(A) Multiple choice questions: (5x1=3)

Which of the following is not limitation of current
Internet?

(a) Insufficient capacity
backbone

(b) Network architecture lim
(©) Insufficient reach
) Best-efforts QOS

throughout  the

itations




ility of system or .
. rocess t :
ount of work is 2 o handle increasing

Jigital Marketing started in the year

: is a type of digital marketing involves
ndjng commercial messages to group of people.

P stands for
wer ALL questions : (5 x 2=10)
‘What are the goals of sustainable technology?
3rief note on R and D in Technology Transfer.
Jefine Internet.
Vrite the role of email marketing.
 the components of ERP.
SECTION B — (5 x 5 = 25)
r ALL questions, choosing either (a) or (b)
Bring out the business strategies related to

s | w do you create knowledge management
in organization? Explain.

y short notes on the p;jg'}_blems in
ation of agreement.

(8 &reTl
| Discuss in brief about patterns and
| L

3 b \ J.

- (o
W s

e
R e

)
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P 22 CSVAC 2

(For c-andidateg admitted from 2022-2023 onwards)
Hi b M.Sc. DEGREE EXAMINATION, APRIL 2024.
' Computer Science — Value Added Course
: FOUNDATION OF 10T
' ' Tnne : Three hours

Maximum : 75 marks
PART A — (20 marks)

Answer ALL questions.
(A) Multiple choice questions : (b x1=5)
Which of the following is not an IoT device?

(a) Table (b) Laptop
- (¢) Arduino (d) Tablet

2. The relation between IoT and M2M is

. (@ LoTispartofM2M _
s (b) M2M is the part of [oT
e (c) Both are same

' (d) None of the above




ay’p : 9.  Arduino Codes are referred to as ——— in the
: Arduino IDE.

10. In IoT, does the ———— layer help in end to
end communication.

II. Answer the following questions. _ (6x2=10)
11. Write the examples of 10T device.

- 12. What is M2M?

" 13. List the challenges of WSM.

14. Brief note on Raspberry pi.

15. Write about data storage in cloud.

. PART B— (5 x 5 = 25)
Answer ALL questions, choosing either (a) or (b).

16. (a) Examine IoT’s growth and development.

; Or

(b) Desariﬁe.- software for embedded systems.

(a) Outline the architecture of IoT with diagram.
e - Or

Analyse IoT value chains with figure.

with neat

Or '
cribe about components of WSNﬂ n

3 /.
Ty




19.

20.

21.
22.

23.
24.

25.

(a) Explain DBSCAN algorithm.
Or

(b) Discuss the classification of charts in
Tableau.

(a) Explain Multimedia mining and the various
data formats.

Or

(b) Prowvide an overview of data mining tools
WEEA.

SECTION C — (3 x 10 = 30)
Answer any THREE questions.
Explain the classification of data mining systems.

Explain the phases of Apriori algorlthm with an
example.

Describe feature selection measures in decision
tree algorithm with an example.

Provide a detailed view on Partitioning Clusterihg
approaches.

Explain the pre-processing steps for handling
unstructured data and Bag of words approach.

4 S.No. 3563

S.No. 3553 P22ITCC 2B

(For candidates admitted from 2022-2023 onwards)
M.Sc. DEGREE EXAMINATION, APRIL 2024
Information Technology — Core Choice Course
DATA MINING TECHNIQUES AND TOOLS

Time < Three hours " Maximum : 75 marks
SECTION A — (20 marks)
Answer ALL questions.

1. (A) Choose the correct answer : (6 x1=5)

1. Data mining algorithms can be applied on

(a) ' Only Structured Data

(b) Unstructured

() Does not support Unstructured data
{(d) All formats of data

2. Data in different units of measurement has to be
before performing data mining tasks

(a) Cleaned

(b) Normalized

(¢) Transformed

(d) Removed with outliers




10.

of features is criteria in Selection of
independent variables in Regression models.

(a) Correlation (b) Relation
(¢©) No corr?lation (d) Covariance
Spatial data is represented in format
(a) Raster and Vector

(b) Geotag

(¢) Unstructured

(d) Structured numerical data

Clustering of objects in data mining is based on
(a) Similarity

(b) Variance

(¢) Nearest neighbour
(d) All(a), (b), and (c)
(B) Fillin the blanks :

Data mining is based on

(5bx1=5)
approach.

KNN impute missing value replacement is based
on. .

False positive in confusion matrix is.

Bell shaped curve in histogram is -called as

The technique used to reduce words to their root
words is :

2 . S.No. 3553

II.

11.
12.
13.
14.
15.

16.

17.

- 18.

Answer ALL dueations i (5% 2=10)
Define Data mining.

Describe support measure with an example.
Explain Bayes rule with mathematical notation.
Brief on linkage metrics in hierarchical clustering.

Define Graphs. ‘What does node and edge
represent.

SECTION B — (5 x 5 = 25)
Answer ALL questions.

(a) Explain the sub fields of data mining
systems.

Or
(b) Compare Database Vs Data mining.
(a) Explain the process of ETL.

Or

(b) Provide a detailed view on data reduction

techniques.

(a) Explain Support Vector machines and
various types of kernels.

Or

(b) ‘Brief on evaluation methods used for
analysing prediction.

3 S.No. 35563



18.

19.

20.

21.

22.

23.

24.

25.

(a) How to measure voltages up to 5V? Explain.
Or

(b) How long a switch is pressed?

(a) How to connect and use LEDs?
Or

(b) How to measure the temperature?

(a) How to create delays? Explain,
Or

(b) Write the steps to turn the cursor and display -

On or Off.
SECTION C — (3 x 10 = 30)
Answer any THREE questions.

Explain about the different IoT enabling
technologies in detail.

How to structuring the code into function blocks in
Arduino? Explain.

Explain about the sending formatted text and
numeric data from Arduino.

Describe about controlling Servo Rotation with a
Potentiometer or Sensor.

Explain about the use of time and date with an.

example.

4 S.No. 3556

v

S.No. 3556

Time : Three hours

P22ITE2C

'(For candidates admitted from 2022-2023 onwards)

M.Sc. DEGREE EXAMINATION, APRIL 2024.
Information Technology — Elective
INTERNET OF THINGS

Maximum : 75 marks
SECTION A — (20 Marks)

' Ans.wer_ ALL questions.
(A) Choose the correct answer (5x1=05)

A _____ is the component that executes a program
in an [oT system.

{a) micro converter
(b)  microcontroller
(c) microsensor

(d) Mini Computer

What is the Arduine UNO? .

(a) Software

(b) Hardware device
(c) Network

(d) Protocol



What is another name for 12C?

(a) Signal wire interface

(b) Two wire interfaces

(¢) UART

(d) USART

Full form of LPWAN:

(a) I;ow Power Wide Area Network

(b) Lower Power Wide Area of Network
(c) Low Protocol Wide Area of Network
(d) Long Protocol Wider Area Network
M2M stands for:

(a) MAC to MAC communication

(})) Machine to MAC communication

(c) Machine to machine communication
(d) MAC to machine communication
(B) Fill in the blanks (bx1=5)

Every board of Arduino has a five volts
regulator.

indicates that the function is
expected to return no information to the function
from which it was called.

2 ' S.No. 3556

10.

IL

11.
12,

13.
14,
15.

16.

17.

What is the full form of HDLC?

Which sensor is linear and low accuracy?
Expand LCD ____
Answer ALL questions (5»2=10)

What is wireless sensor networks?

What is the difference between Float and Double
on Arduino?

What is resistors?
What is Digital Temperature Sensors?
What is WAV file?
SECTION B — (5 x 5 = 25) -
Answer ALL the questions either (a) or (b).

(a) Write about the IoT applications in smart
cities.

Or )
(b) Describe about the Logical design of IoT.

(a) Explain about the simple primitive types in
Arduino.

Or

(b) How to work with group of values? Explain.
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19. (a) What do you mean by optimum utilization of
resources? Explain.

Or
(b) Define scalar chain as principle of
?mnagement.

20. (a) Discuss the challenges and opportunities of
the present managers.

Or
(b) Explain about the various types of
Departmentation.

PART C — (3 x 10 = 30)
Answer any THREE questions.
21. Compare Management and Administration.
r;."},—\?V-h.at do you understand by decision making
process? Explain.
[

23. Describe in detail about performance appraisal.

24. Enumerate the various Eyes of leadership with
examples.

. Impact of Information technology in management.
7 Discuss.
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S.No. 5281 P 22 MBANME 1
(For candidates admitted from 2022-2023 onwards)
P.G. DEGREE EXAMINATION, APRIL 2024.
Business Administration — Non Major Elective

PRINCIPLES OF MANAGEMENT

Time : Three hours Maximum : 75 marks

PART A — (20 marks)
Answer ALL questions.
[.  (A) Multiple choice questions: (5x1=5)

1. Management deals with
(a) Internal environment
(b) External environment

(c) Political and legal environment
(d) Both (a) and (b)

2. Strategic planning as a broad concept consists of
(a) External analysis
(b) Corporate strategy
(¢) Developing premises

(d) Strategy formulation and implementation



==

Sources of confhict .
(a) Lackof communication
) Complexity of structure
(¢) Lack of resources

@ All of the above

Who has propounded ERG theory of motivation?
(a) Abraham Maslow (b) Alderfer
(¢) Victor Vroom (d) Douglas McGregor

Which of the following is capable of doing
maximum good to society?

(a) Business success

() Laws and regulation

(¢) Ethics :

(d) Professional management

(B) Fill in the blanks: (5x1=5)

Systematic  evaluation of individual s

is about deciding in advance what
should be done.

Choosing the right person for the job is

In ‘carrot and stick policy’ stick denotes

10. A self-regulating business model commits

accountability.

2  S.No. 5281

I

12.
13.
14.
15.

Deseriptive questions: (5«2=10)
Define managerial communication.

What are the characteristic of leadership?

Brief about Matrix structure.

Outline the term “Brainstorming”.

What is corporate social responsibility?

PART B — (5 x 5 =125)

Answer ALL the questions, choosing either (a) or (b).

16. (a) Elaborate the significance of ethics in
management.
Or
(b) Outline the process of MBO.
1'7/(4) Elucidate the types and stages of planning.
‘ Or
(b) Explain the factors influencing the
organization change.
18. (a) Differentiate between formal and informal

organization.
Or
(b) State the advantages of formal organization.
3 S.No. 5281




18,

19.

20.

a1/

22,
23.
24.

5y

i . : it;
(a) List out the controlling access in securlty
administration.

Or
(b) Give a brief note on the system life cycle 11
application software security.
(a) Explain about the network access control.
Or _
(b) Write a brief note about unified threat
management. )
(a) Briefly discuss the types of threats in

malware.
Or
(b) Write down the steps for gafe recovery
techniques and practices.
PART C — (3 x 10 = 30)
Answer any THREE questions.

Write in detail about the evolution of the Internet
of Things.

Describe about the malicious attack with its types.
Discuss about the data classification standards.

Demonstrate the three categories of network
security risk.

Explain attacks with their types.

4 S.No. 3551

S.No. 3551 P 22 ITCC 22

(For candidates admitted from 2022-2023 onwards)
M.Sc. DEGREE EXAMINATION, APRIL 2024,
Information Technology

FQUNDATIONS OF INFORMATION SECURITY

Time : Three hours Maximum : 75 marks

PART A — (20 marks)
Answer ALL questions.
(A) Choose the correct answer (bx1=5)

V_Vhen selling software, software manufacturers
limit their liability using

(a) End-User License Agreements
(b) Confidentiality agreements
(¢) Software development agreements

(d) By developing error-free software and code so
there is no liability

9.  Which of the following affects availability?
(a) Cross-site scripting
(b) SQL injection
() Denial
(d) Packet sniffing




B)

The change management process includes—
and control.

(a) Clearance; classification

(b) Document; data

(c) Hardware inventory; software development,
(d) Configuration; change

Jayer of the OSI Reference Model is
most commonly responsible for encryption.

(a) Application

(b) Presentation

(c) Session

(d) Transport

A is a network of compromised
computers that attackers use to launch attacks
and spread malware.

(a) Black network
(b) Botnet
(¢) Attacknet

(d) Trojan store
Fill in the blanks : (bx1=5)

The—— —is the weakest link in an
IT infrastructure.

_  is a software tool that used to
capture packets from a network.

2 S.No. 35561

10.

II.

11.
12.
13.

14.
15.

16.

There are scveral types of softtvare development
methods, but most traditional methods based on
the———————— model.

————— is a suite of protocols developed by
the_ Department of Defence to provide a highly
reliable and fault-tolerant network infrastructure

———— named as unwanted message.
Answer ALL questions. (5x2=10)
Define IP mobility.

Write a note on malicious software.

Mention the advantages and disadvantages of
security outsourcing.

What is TCP/IP?

(Give a note on intrusion tools and techniques.

PART B — (6 x b = 25)

Answer ALL questions, choosing either (2) or (b).

(a) What are the critical challenges in 10T?
Or

(b) Write a short note about information security
systems.

1% (a) Discuss on the importance of the Attacks

countermeasure,
Or

(b) Illustrate the steps in the risk management
process. '
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19,

25.

(&) Explain query optimization and execution.

Or
(b)  Write short notes on Concurrency control.

(a) Explain runtime issues in  POWe

management.

Or

(b) Explain the difference between micro kernel
and monolithic kernel.

PART C — (3 x 10 = 30)
Answer any THREE questions.

Explain the detail concept of Multiprocessor
Operating Systems.

Explain the resource allocation graph algorithm
for deadlock avoidance.

Distinguish the difference between Buffering and
Caching in Operating System.

Explain the key functionalities of Database
Operating Systems

Explain the components of Mobile Operatin
Systems. .

4 S.No. 3550

S.No. 3550

Time : Three hours

P 22 ITCC 21

(For candidates admitted from 2022-2023 onwards)

M.Sc. DEGREE EXAMINATION, APRIL 2024
[nformation Technology
ADVANCED OPERATING SYSTEMS
Maximum : 75 marks
PART A — (20 marks)

Answer ALL questions

(A) Choose the correct answer : (Bx1=5)

In short-term schedular, which module gives the
control to process the CPU?
(a) Schedular (b) Interrupt
(c) Dispatcher (d) Buffer
is not an approach to Handle
Deadlock.
(a) Detect and recover
(b) Deadlock Avoidance
(¢) Virtual memory
(d) Deadlock prevention



411

-1

10.

A memory buffer used to accommodate a speed

differential is called ——
(b) Cache

(d) Accumulator

(a) Stack pointer
(¢) Disk buffer

Operating System maintains the page table for

each

(a) Process () Thread
(¢) Instruction (d) Address
The OS X has type of kernel.

(a) Hybrid kernel (b) Micro kernel

() Monolithic kernel (d) Both (b) and (¢)

(B) Fill in the blanks : (5x1=5)
If a process fails, most operating system write the
error information to a

In real time operating system should

be minimal.

The information about all files is kept in

The two steps the operating system takes to use a
disk to hold its files are ————— and

The number of processes completed per unit time
is known as

2 S.No. 3550

II.

1L
12.
13.
14.

15.

16.

17.

18.

Answer ALL questions : BGx2=10)
Explain process synchronization.

Define distributed deadlock detection.

Explain the types of buffers.

What is the most common synchronization
primitive?

Define Kernel and its function.

PART B — (5 x 5 = 25)

Answer ALL questicns, choosing either (a) or (b)

(a) Discuss operating System design issues.

Or
(b) - Explain Layered Approach Structure in
detail.
L
(a) Explain System Architecture with a neat
diagram.
Or

(b) Explain various necessary conditions for
deadlock occurrence in distributed systems.

(a) Explain the ways to implement distributed
file system.

Or
(b) Brief the types of scalability with an
example. -
3 S.No. 3550
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